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Constable GD in Central Armed Police Forces CAPFs SSF Rifleman GD in Assam
Rifles Examination 2024

[Roll Number

Candidate Name

\Venue Name

Exam Date 30/03/2024

Exam Time 9:00 AM - 10:00 AM

Subject Constable GD Examination 2024

Section : Part-A-General Intelligence and Reasoning

Q.1  Select the oprion that is related 1o the fifth word in the same way as the fourth ward is related o the third word and the
second word is related to the first word.

BIHAR ' PATNA : THARKHAND : RANCHI : RATASTHAN : 7
Ans X 1. UDAIPUR

+ 2. JAIPUR

X 3. JODHPUR

X 4 MANIPUR

Question ID : 264330190291
Option 1 ID : 264330744748
Option 2 ID : 264330744746
Option 3 ID : 264330744747
Option 4 ID : 264330744749
Status : Answered
Chosen Option : 2

Q.2 Which of the following numbers will replace the question mark (?) in the given series?
12,24, 48,96, 192, ?

Ans X 1. 222
v2 384
X3 318
X 4. 280

Question ID : 264330192100
Option 11D : 264330751754
Option 2 ID : 264330751755
Option 3 ID : 264330751757
Option 4 ID : 264330751756
Status : Answered
Chosen Option : 2
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Q.3 sSevenboysP Q. R, 5, T, U and V are sitting around a circular table facing towards the centre (not necessarily in the
same order). V is second to the right of . U is to immediate left of B. P is third to the right of T. S and T are the
immediare neighbour of Q. Who i3 sitting on the immediate right of Q7
Ans X1 U
x2S
X3 R
4 T
Question ID : 264330192057
Option 1 ID : 264330751584
Option 2 ID : 264330751582
Option 3 ID : 264330751585
Option 4 ID : 264330751583
Status : Answered
Chosen Option : 4
Q.4  Six sudents Sarah, Tom, Lily, Tohn, Mike, and Emma are sitting in a circle facing the center. John is sitting third to the
left of Lily and is between Sarah and Tom. Tem is not a neighbour to Mike. Sarah sits to the immediate left of Mike.
Wheo is sitting to the immediare right of Emma?
Ans X 1. Sarah
X 2. John
X 3. Mike
« 4. Tom
Question ID : 264330190415
Option 1 ID : 264330745243
Option 2 ID : 264330745244
Option 3 ID : 264330745245
Option 4 ID : 264330745242
Status : Answered
Chosen Option : 4
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Q.5 A paper is folded and cut as shown below. How will it appear when unfolded?

Ans

x4

L. (00
00

Question ID :
Option 11D :
Option 21D :

Option 3 ID

264330192227
264330752262
264330752263

1264330752264
Option 4 ID :
Status :

Chosen Option :

264330752265
Answered
2

Q.6 In the following question, select the missing number from the given series.

990, 962, 934, 906, 878, 7
Ans X' 1. 260

& 2. 850

X 3. 854

X 4. 840

Question ID :

Option 1 ID

264330191519

1 264330749433
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

264330749431
264330749432
264330749430
Answered

2
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Q.7 Four different positions of the same dice are given below. Find the letter opposite of c.

X2 d
X3 e
4 f
Question ID : 264330191124
Option 1 ID : 264330747850
Option 2 1D : 264330747851
Option 3 ID : 264330747852
Option 4 ID : 264330747853
Status : Answered
Chosen Option : 4
Q.8 Inthe following question. select the figure which can be placed at the sign of question mark (?) from the given
alternatives.
r
|
o
Ans
x| "
i
. |
~< 2.
—
. =}
X 3.
o
4 a
E
£l
Question ID : 264330187355
Option 1 1D : 264330733350
Option 2 ID : 264330733348
Option 3 ID : 264330733351
Option 4 ID : 264330733349
Status : Answered
Chosen Option : 4
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Q.9  Afier interchanging the given two signs what will be the values of equation (I) and (I} respectively?
< and —
L78-6+15+3
MB8—-—9x2+45+5
Ans X 1. 84 and 42
+ 2 —36and 79
X3 —Sand 10
X 4 56and 18
Question ID : 264330190240
Option 11D : 264330744542
Option 2 ID : 264330744545
Option 3 ID : 264330744544
Option 4 ID : 264330744543
Status : Answered
Chosen Option : 2
Q.10 Iua certain code language, ‘LOUD" is coded as ‘IKRZ’. What is the code for ‘PALE" in that cods languages?
Ans X 1. MVIA
« 2. MWIA
X 3. MWIB
< 4 MWIA
Question ID : 264330187404
Option 1 ID : 264330733546
Option 2 ID : 264330733545
Option 3 ID : 264330733544
Option 4 ID : 264330733547
Status : Answered
Chosen Option : 2
Q11 'A x B' means 'A is the father of B’
'A + B' means 'A is the mother of B'
'A +B'means 'A is the son of B’
'A - B' means 'A is the daughter of B'
How is A related to D in the expression'A+B +C x D'?
Ans X 1. Brother
X 2. Father
« 3. Son
+ 4. Father's brother
Question ID : 264330192375
Option 1 ID : 264330752854
Option 2 ID : 264330752855
Option 3 ID : 264330752856
Option 4 ID : 264330752857
Status : Answered
Chosen Option : 4
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Ans

X 1. VITAL
« 2. IRRELEVANT
X 3. REQUIRED

X 4. SIGNIFICANT

Q.12 Select the oprion that is related to the fifth word in the same way as the fourth word is refared to the third word and the
second word is related to the first word.

CREATE : DESTROY :: DIVIDE : UNITE :: IMPORTANT : 7

Question ID : 264330192311

Option 1 ID : 264330752599
Option 2 ID : 264330752598
Option 3 ID : 264330752600
Option 4 ID : 264330752601
Status : Answered
Chosen Option : 2
Q.13 Ina certain code language, if WHISTLE is coded as 'VGHRSKD' and FLUTE is coded as 'EKTSD.' then what will
TRUMPET be coded as?
Ans X 1. SQLODTS
X 2. SQTLDOS
« 3 SQTLODS
X 4. SQLTODS
Question ID : 264330192134
Option 11D : 264330751891
Option 2 ID : 264330751890
Option 3 ID : 264330751892

Option 4 ID : 264330751893
Status : Answered
Chosen Option : 3
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Ans

&1

<R3]

Q.14 gelect the figure that will replace the question mark (?) in the following figure series.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330192343
264330752728
264330752727
264330752726
264330752729
Answered

1

G,J.M.P,?

Ans 1. §
X2 T
X3 R
X4 M

Q.15 Which of the following letter clusters will replace the question mark (?) in the given series?

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330192088
264330751708
264330751709
264330751706
264330751707
Answered

1
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Q.16 Which of the following groups of letters when sequentially placed from left to righrt will complete the given series?

lmnopl noplmn plmnopl noplow p

Ans 1.
X 2.
X 3
X 4.

mMomao
mooim
mmaon

popm

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330187420
264330733611
264330733609
264330733608
264330733610
Answered

1

Q.17 If 10 @ 70 * 60 # 90 = 4300 and 105 @ 70 * 30 # 85 = 2290, then 80 @ 40 * 50 # 60 =?

Ans 12140
X 2. 2100
X 3. 2160
X 42190
Question ID : 264330187453
Option 11D : 264330733741
Option 2 ID : 264330733740
Option 3 ID : 264330733742
Option 4 ID : 264330733743
Status : Answered
Chosen Option : 3
Q.18 Two positions of a dice are given below. What will come on the face opposite to the face containing *6" on it?
Ans X 1.1
2 2
X3 P
X4 3
Question ID : 264330191325
Option 1 ID : 264330748656
Option 2 ID : 264330748654
Option 3 ID : 264330748657
Option 4 ID : 264330748655
Status : Answered
Chosen Option : 2
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conclusions and then decide which of the given conclusion (s) logically follows the given statements,
Statements:

L Some tree are flower.

II. No flower is red.

Conclusions:

I All tree are red.

1. All red are flower.

TII. Some trae are not rad.

Ans X 1. All conclusion follows
+ 2. Only conclusion IIT follows

X 3. Only conclusion II follows

X 4. Both conclusions IT and ITI follows

Q.19 1In the following question balow are given some statements followed by some conclusions based on those statemants.
Taking the given statements to be time even if they seem to be at variance from commonly known facts. Read all the

Question ID : 264330187429
Option 1 ID : 264330733645
Option 2 ID : 264330733647
Option 3 ID : 264330733644
Option 4 ID : 264330733646
Status : Answered
Chosen Option : 2
Q20 Arrange the given words in alphabetical order:
1. LOST
2. LIST
3. LIKE
4. LONG
5.LATE
Ans 1. 5,3,2,4,1
X2 51,234
X3 52,143
X4 54,123
Question ID : 264330190289
Option 11D : 264330744741
Option 2 ID : 264330744740
Option 3 ID : 264330744739
Option 4 ID : 264330744738
Status : Answered
Chosen Option : 1

Section : Part-B-General Knowledge and General awareness
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Q.1 Who became the first Indian to receive the Grand Order of the Chain of Yellow Star in the republic of Suriname in June,
20237
Ans X 1. Narendra Modi
X 2. Amit Shah
+ 3. Droupadi Murmu
X 4. Rajnath Singh
Question ID : 264330190649
Option 11D : 264330746178
Option 2 ID : 264330746180
Option 3 ID : 264330746179
Option 4 ID : 264330746181
Status : Answered
Chosen Option : 1
Q.2 When a person leaves one job (either voluntarily or inveluntarily) without finding another one. they are known to be
going through
Ans 1. Frictional unemployment
X 2. Disguised unemployment
X 3. Seasonal unemployment
X 4. Cyclical unemployment
Question ID : 264330191975
Option 1 ID : 264330751254
Option 2 ID : 264330751256
Option 3 ID : 264330751255
Option 4 ID : 264330751257
Status : Answered
Chosen Option : 2
@3 Which of the following events was plaved in National Games 20237
L. Rowing
II. Rollball
Ans X 1. Only II
X 2 OnlyI
X 3. Neither I nor IT
+ 4 BothIand II
Question ID : 264330188848
Option 1 1D : 264330739195
Option 2 ID : 264330739194
Option 3 ID : 264330739197
Option 4 ID : 264330739196
Status : Answered
Chosen Option : 4




www.prepp.in

Q.4

Ans

Read the following about the Green Revolution in India,

A, The green revolution in India refers to a period when Indian Agriculture was converted into an industrial svstem due

to the adoption of modern methods and technology such as the use of HY'V seeds, tractors. irrigation facilities.

pesticides and fertilizers.
B. Tt was funded by the US and the Indian Govermument and the Ford and Rockefeller Foundation
Tdentify the CORRECT statement/statements.

X 1. Only A
X 2 OnlyB

X 3. Neither Anor B
+ 4 Both A and B

Question ID : 264330191266
Option 1 ID : 264330748418
Option 2 ID : 264330748419
Option 3 ID : 264330748421
Option 4 ID : 264330748420
Status : Answered
Chosen Option : 2
Q.5 The Green Revolution in India primarily focused on improving the production of
Ans X 1. wheat and maize
+ 2. wheat and rice
X 3. cotton and maize
X 4. rice and cotton
Question ID : 264330191487
Option 1 ID : 264330749302
Option 2 ID : 264330749303
Option 3 ID : 264330749304
Option 4 ID : 264330749305
Status : Answered
Chosen Option : 2
Q.6 Who is the first Indian singer to have perform at the Royal Albert Hall in London?
Ans 1. Lata Mangeshkar
X 2. Asha Bhosle
X 3. AR Rahman
X 4. K. J. Yesudas
Question ID : 264330191274
Option 1 ID : 264330748451
Option 2 ID : 264330748452
Option 3 ID : 264330748453
Option 4 ID : 264330748450
Status : Answered
Chosen Option : 4
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Q.7 Which of the following is NOT associated with musical instrument Sarangi?

Ans X 1. Shakoor Khan
X 2. Ramesh Mishra
+ 3. Nikhil Banerjee
X 4. Ustad Bind Khan
Question ID : 264330190817
Option 1 ID : 264330746622
Option 2 ID : 264330746623
Option 3 ID : 264330746625
Option 4 ID : 264330746624
Status : Answered
Chosen Option : 3
Q.8 The literacy rates exclude Assam where the Census could not be conducted.
Ans X 1. 1951
X2 1971
¥ 3. 1981
X 41961
Question ID : 264330191960
Option 1 ID : 264330751194
Option 2 ID : 264330751196
Option 3 ID : 264330751197
Option 4 ID : 264330751195
Status : Answered
Chosen Option : 3
Q.9 The famous work "Arthashastra" attributed to which ancient Indian scholar and strategist?
Ans X 1. Panini
X 2. Kalidasa
« 3. Chanakya
X 4. Valmiki
Question ID : 264330190975
Option 11D : 264330747256
Option 2 ID : 264330747257
Option 3 ID : 264330747254
Option 4 ID : 264330747255
Status : Answered
Chosen Option : 2
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Ans X 1. Diwali

« 2. Christmas

Q.10 Which of the following festival is celebrated on 25th December all over the world?

X 3. Eid
A 4 Holi
Question ID : 264330191912
Option 1 ID : 264330751005
Option 2 ID : 264330751003
Option 3 ID : 264330751002
Option 4 ID : 264330751004
Status : Answered
Chosen Option : 2
Q.11 In September 2023, Vijayawada Railway Station was awarded the -certification with the highest rating of
Platinum by the Indian Green Building Council (IGBC),
Ans 1. Green Railway Station
X 2. Cleanest Railway Station
X 3. Biggest Railway Station
X 4. Solar Railway Station
Question ID : 264330191789
Option 1 ID : 264330750511
Option 2 ID : 264330750513
Option 3 ID : 264330750512
Option 4 ID : 264330750510
Status : Answered
Chosen Option : 2
Q.12 Which state's government has granted approval for the ‘Location Accessible Multi-modal Initiative (LAccMI) scheme,
aimed at establishing a sustainable, affordable, and safe transportation network for passengers and goods across the
state?
Ans % 1. Madhya Pradesh
+ 2. Odisha
X 3. Maharashtra
X 4. West Bengal
Question ID : 264330191268
Option 1 ID : 264330748429
Option 2 ID : 264330748426
Option 3 ID : 264330748427
Option 4 ID : 264330748428
Status : Answered
Chosen Option : 1
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Q.13 The Modem Periadic Table has 18 vertical columns known as “groups’ and

horizontal rows known as

Chosen Option :

‘periods’.
Ans g1 7
X2 6
X3 12
x4 8
Question ID : 264330191413
Option 1 ID : 264330749007
Option 2 ID : 264330749008
Option 3 ID : 264330749009
Option 4 ID : 264330749006
Status : Answered
Chosen Option : 4
Q14 YWhich one is not the festival of Gujarat?
Ans 1. Sunburn Festival
X 2. Kutch Festival
X 3. Paragliding Festival
X 4. Uttarayan Kite Festival
Question ID : 264330191877
Option 11D : 264330750863
Option 2 ID : 264330750862
Option 3 ID : 264330750865
Option 4 ID : 264330750864
Status : Answered
Chosen Option : 1
Q.15 Gopika Varma receives the Sangeet Natak Akademi Award 2018 for her contribution to
Ans % 1. Kuchipudi
X 2. Kathak
X 3. Odissi
+ 4. Mohiniyattam
Question ID : 264330191018
Option 1 ID : 264330747429
Option 2 ID : 264330747428
Option 3 ID : 264330747427
Option 4 ID : 264330747426
Status : Answered

1




www.prepp.in

Chosen Option

Q16 WWhich sport is played by the Indian sportsperson Jwala Gutta?
Ans X 1. Hockey
+ 2. Badminton
X 3. Table Tennis
X 4. Cricket
Question ID : 264330191222
Option 1 ID : 264330748243
Option 2 ID : 264330748245
Option 3 ID : 264330748244
Option 4 ID : 264330748242
Status : Answered
Chosen Option : 2
Q17 Major Dhyan Chand is a famous name in the game of
Ans X 1. Tennis
X 2. Football
« 3. Hockey
X 4. Cricket
Question ID : 264330191922
Option 1 ID : 264330751044
Option 2 ID : 264330751045
Option 3 ID : 264330751043
Option 4 ID : 264330751042
Status : Answered
Chosen Option : 3
Q.18 Which of the following articles of Indian Constitution is related to the Election Commission of India?
Ans X 1. Article 323
X 2. Article 322
« 3. Article 324
X 4. Article 321
Question ID : 264330190600
Option 1 1D : 264330745984
Option 2 ID : 264330745983
Option 3 ID : 264330745985
Option 4 ID : 264330745982
Status : Answered

03
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Q19 To which of the following states does the dance form Laho belong?

Ans X 1. Maharashtra
+ 2. Meghalaya

X 3. Manipur
X 4. Arunachal Pradesh
Question ID : 264330191251
Option 1 ID : 264330748359
Option 2 ID : 264330748360
Option 3 ID : 264330748361
Option 4 ID : 264330748358
Status : Answered
Chosen Option : 1
Q.20 Demonetisation was a new initiative taken by the Government of India in to tackle the problem of coruption.
black money, terrorism and cirenlation of fake currency in the economy.
Ans X 1. November 2017
X 2. October 2016
+ 3. November 2016
X 4. October 2017
Question ID : 264330190644
Option 11D : 264330746161
Option 2 ID : 264330746158
Option 3 ID : 264330746159
Option 4 ID : 264330746160
Status : Answered
Chosen Option : 4
Section : Part-C-Elementary Mathematics
Q.1  Amar, Samar and Umesh together can complete a book in 15 days. Amar and Samar together can complete the same
bool in 30 davs, Umesh alone can complete the same book in how many days?
Ans X 1. 40 days
X 2. 35 days
« 3. 30 days
X 4. 60 days
Question ID : 264330187236
Option 11D : 264330732874
Option 2 ID : 264330732873
Option 3 ID : 264330732872
Option 4 ID : 264330732875
Status : Answered
Chosen Option : 3
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alone take to complete the same work?

Ans X 1. 80 days

Q.2 Neeraj is 4 times as efficient as Dheeraj and together they complete a work in 44 days, How many dayvs will Neeraj

X 2. 65 days
« 3. 55 days
X 4. 70 days
Question ID : 264330188550
Option 1 ID : 264330738005
Option 2 ID : 264330738002
Option 3 ID : 264330738003
Option 4 ID : 264330738004
Status : Answered
Chosen Option : 3
Q.3  The average of a set of 7 numbers is 18, If one number is removed, the average becomes 15. What is the value of the
removed mimbear?
Ans X' 1. 33
X2 3]
¥ 3 306
X 4 34
Question ID : 264330188516
Option 1 ID : 264330737866
Option 2 ID : 264330737869
Option 3 ID : 264330737868
Option 4 ID : 264330737867
Status : Answered
Chosen Option : 3
Q.4 When a number is successively decreased by 15 percent, 80 percent and 44 percent, then it becomes 19992, What is that
number?
Ans X 1. 220000
X 2. 211000
X 3. 210100
« 4. 210000
Question ID : 264330187766
Option 1 ID : 264330734992
Option 2 ID : 264330734993
Option 3 ID : 264330734995
Option 4 ID : 264330734994
Status : Answered
Chosen Option : 4
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Q5 1f(5t+3u): (5t—3u)=>5: 3, then what is the value of t : u?

Ans 1. 12:5
X26:7
X3 4:5
x4 8:7
Question ID : 264330187311
Option 1 ID : 264330733172
Option 2 ID : 264330733174
Option 3 ID : 264330733175
Option 4 ID : 264330733173
Status : Answered
Chosen Option : 1
Q.6  Two boys are standing on the opposite ends of a 540 metres long bridge. T they start walking towards each other at
same time at the speed of 18 metres/minute and 12 metres/mimite respectively, then in how much time will they meet
each other?
Ans 1. 18 minutes
X 2. 14 minutes
X 3. 26 minutes
X 4. 32 minutes
Question ID : 264330188628
Option 1 ID : 264330738316
Option 2 ID : 264330738315
Option 3 ID : 264330738317
Option 4 ID : 264330738314
Status : Answered
Chosen Option : 1
Q7 Calculate: 2 x (4 + 6) - 5.
Ans X' 1. 14
2 15
X3 14
X4 18
Question ID : 264330188492
Option 1 ID : 264330737773
Option 2 ID : 264330737770
Option 3 ID : 264330737772
Option 4 ID : 264330737771
Status : Answered
Chosen Option : 2
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Q.8 If Marked price of an article is Rs. 2500 and selling price is Rs. 1800. What is the discount?

Ans X 1. 300
X 2. 850
X 3750
« 4700
Question ID : 264330187169
Option 1 ID : 264330732604
Option 2 ID : 264330732605
Option 3 ID : 264330732606
Option 4 ID : 264330732607
Status : Answered
Chosen Option : 4
Q.9 Rs. 7200 is divided among P. ¢ and R such that 6 times of P's share is equal to 2 times of Qs share which is equal to 3
times of R's share. What is the share of Q7
Ans X 1. Rs. 4800
+ 2. Rs. 3600
X 3 Rs. 1200
X 4. Rs. 2400
Question ID : 264330187592
Option 1 ID : 264330734299
Option 2 ID : 264330734296
Option 3 ID : 264330734297
Option 4 ID : 264330734298
Status : Answered
Chosen Option : 2
Q.10 The difference berween the compound interest (compounding annually) and simple interest on a sum at the rate of 30
percent per annum for 2 years is Rs. 5400. What is the sum?
Ans X 1. Rs. 65000
X 2. Rs. 68000
X 3. Rs. 70000
« 4. Rs. 60000
Question ID : 264330187474
Option 1 ID : 264330733824
Option 2 ID : 264330733826
Option 3 ID : 264330733827
Option 4 ID : 264330733825
Status : Answered
Chosen Option : 4
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Ans

X 1. 20 percent
X 2. 30 percent
X 3. 35 percent
« 4. 25 percent

Q.11 If the cost price of an article is 80 percent of its selling price, then what is the profit percentage?

Question ID : 264330187627
Option 1 ID : 264330734438
Option 2 ID : 264330734437
Option 3 ID : 264330734436
Option 4 ID : 264330734439
Status : Answered
Chosen Option : 4
Q12 YWhat is the value of 4(12 - 10+ 42— 17) + 3 + 42
Ans X' 1 &0
X2 50
X3 30
v 4. 40
Question ID : 264330187580
Option 1 ID : 264330734251
Option 2 ID : 264330734250
Option 3 ID : 264330734248
Option 4 ID : 264330734249
Status : Answered
Chosen Option : 4
Q.13  Price of | kg of sugar is increased by 34 percent and the increase is of Rs. 51, What is the new price of the sugar per kg?
Ans X 1. Rs. 150
¥ 2. Rs. 201
X 3. Rs. 120
X 4. Rs. 130
Question ID : 264330187845
Option 11D : 264330735311
Option 2 ID : 264330735308
Option 3 ID : 264330735310
Option 4 ID : 264330735309
Status : Answered
Chosen Option : 2
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Q14 YWhat is the value of [81 of (44 — 11 + 2) + (44 + 22 + 5)]?
Ans X 1. 162
x 2 8]
X3 324
o 4. 405
Question ID : 264330187520
Option 1 ID : 264330734009
Option 2 ID : 264330734008
Option 3 ID : 264330734010
Option 4 ID : 264330734011
Status : Answered
Chosen Option : 4
Q.15 A shopkeeper sells his goods at a 12% profit after marking them up by 20%. What is the discount percentage?
Ans X 1. 4,55%
¥ 2. 6.66%
X 3. 5.5%
X4 7.20%
Question ID : 264330191198
Option 1 ID : 264330748148
Option 2 ID : 264330748149
Option 3 ID : 264330748146
Option 4 ID : 264330748147
Status : Answered
Chosen Option : 2
Q.16 Awerage price of 38 pens is Rs. 25. If 8 new pens are added, then the average price rise by Rs. 4. What is the total price
of the 8 new pens?
Ans X 1. Rs. 325
X 2 Rs. 411
« 3. Rs. 384
X 4 Rs. 450
Question ID : 264330187304
Option 1 ID : 264330733146
Option 2 ID : 264330733147
Option 3 ID : 264330733145
Option 4 ID : 264330733144
Status : Answered
Chosen Option : 3
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Q.17 A person loses 15 percent on selling 50 shoes for Rs. 85. What should be the selling price of 50 shoes to eam a profit of

15 percent?
Ans X 1. Rs. 115
« 2 Rs. 135
&3 Rs. 110
X 4 Rs. 120
Question ID : 264330187728
Option 1 ID : 264330734842
Option 2 ID : 264330734841
Option 3 ID : 264330734843
Option 4 ID : 264330734840
Status : Answered
Chosen Option : 2
Q.18 At what annual rate of interest will a sum of money be thrice in 5 years at simple interest?
Ans X 1. 34%
o 2. 40%
X 3. 45%
X 4. 30%
Question ID : 264330191161
Option 1 ID : 264330747999
Option 2 ID : 264330747998
Option 3 ID : 264330748001
Option 4 ID : 264330748000
Status : Answered
Chosen Option : 2
Q19 Evaluate:
[(36 —12)+ 6] +[98 =21 = 3 x 2]
Ans X 1. 73
« 2. B8
X 3. 96
<4102
Question ID : 264330192388
Option 1 ID : 264330752906
Option 2 ID : 264330752907
Option 3 ID : 264330752908
Option 4 ID : 264330752909
Status : Answered
Chosen Option : 2
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.20 . .
Q If total surface area of a cube is 600 {:mz, then what is the volume of cube?
Ans
X 1 900 cm?
X2 1728 em®
<1000 cm®
X 4 750 cm’
Question ID : 264330187758
Option 1 ID : 264330734962
Option 2 ID : 264330734963
Option 3 ID : 264330734961
Option 4 ID : 264330734960
Status : Answered
Chosen Option : 3
Section : Part-D-English
Q.1 Improve the nnderlinad part of the sentence. Chaose “No improvement® as an answer if the sentance iz grammarically
corract.
A healthy person usually does not suffering from the disease.
Ans 1. not suffer from
X 2. pot suffers with
X 3. No improvement
X 4. not suffered from
Question ID : 264330185670
Option 1 1D : 264330727038
Option 2 ID : 264330727036
Option 3 ID : 264330727039
Option 4 ID : 264330727037
Status : Not Answered
Chosen Option : --
Q2 Choose the word that means the same as the given word.
Hinder
Ans X 1. Sore
X 2. Aid
+ 3. Impede
X 4. Stare
Question ID : 264330186247
Option 1 ID : 264330729235
Option 2 ID : 264330729233
Option 3 ID : 264330729234
Option 4 ID : 264330729232
Status : Not Answered
Chosen Option : --
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Q.3 Choose the idiom/phrase that can substitute the highlighted group of words meaningfully.

Driving fast on this bad road is likely to create problem.

« 1. Asking for trouble

Ans

X 2. In seventh heaven
X 3. Put off
X 4. Beat around the bush

Question ID : 264330186166
Option 11D : 264330728924
Option 2 ID : 264330728927
Option 3 ID : 264330728926
Option 4 ID : 264330728925
Status : Not Answered
Chosen Option : --
Q.4 Choose the correct word to complete the sentence:
The pianist's pertormance left the andience spellbound. each note conveying a range of emotions.
Ans X 1. jarring
X 2. stagnant
« 3. riveting
X 4. controversial
Question ID : 264330186470
Option 11D : 264330730084
Option 2 ID : 264330730087
Option 3 ID : 264330730085
Option 4 ID : 264330730086
Status : Not Answered
Chosen Option : --
Q.5 Choose the option which is antonym of (opposite of) the word "dissonance” in the sentence given below:
After hours of negotiations, they finally reached a mutual agreement that satisfied both parties involved in the business
deal.
Ans & 1. agreement
X 2. deal
X 3. mutual
X 4. negotiations
Question ID : 264330186459
Option 11D : 264330730042
Option 2 ID : 264330730043
Option 3 ID : 264330730041
Option 4 ID : 264330730040
Status : Not Answered
Chosen Option : --
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the Idiom/Phrase.
Allalong

Ans 5 1. At the desired place
X 2. Everywhere
« 3. All the time; from the beginning
X 4. People in unity

Q.6 Inthe following question. out of the given four alternatives, select the alternative which best expresses the meaning of

Chosen Option :

Question ID : 264330186796
Option 1 ID : 264330731326
Option 2 ID : 264330731325
Option 3 ID : 264330731324
Option 4 ID : 264330731327
Status : Not Answered
Chosen Option : --
Q.7 Fill in the blank with the most appropriate option.
Calpurnia scratched in her handbag and brought a battered leather coin purse.
Ans X 1. fourth
X 2. four
X 3. fore
« 4 forth
Question ID : 264330186821
Option 1 ID : 264330731422
Option 2 ID : 264330731423
Option 3 ID : 264330731421
Option 4 ID : 264330731420
Status : Not Answered
Chosen Option : --
Q.8 Find the part of the given sentence that has an error in it. If there is no error, choose “No error”,
Much of the world lived in countries that impose controls on what can and cannot be said about their governiments
anline.
Ans X 1. No error
+ 2. Much of the world lived in countries
X 3. that impose controls on what can and
X 4. cannot be said about their governments online
Question ID : 264330186088
Option 11D : 264330728631
Option 2 ID : 264330728628
Option 3 ID : 264330728629
Option 4 ID : 264330728630
Status : Not Answered
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Q9 Select the most appropriate word to fill in the blank.

Ans X 1. Failhood

X 2. Loser
« 3. Failure

X 4. Failed

is not an option for me. I have to succeed at any cost.

Question ID :

Option 1 ID

Option 21D :

Option 3 ID

Option 4 ID :
Status :
Chosen Option :

264330185777
1264330727447
264330727446
1264330727444
264330727445
Not Answered

Q.10 Select the ineorrectly spelr word from the given sentence.

When we reach home after travelling for wealks, the home is the same, but something in our minds has changed, and

Chosen Option :

that changas everything.
Ans X 1. changed
+ 2. weaks
X 3. everything
X 4. travelling
Question ID : 264330185894
Option 1 ID : 264330727890
Option 2 ID : 264330727888
Option 3 ID : 264330727891
Option 4 ID : 264330727889
Status : Not Answered
Chosen Option : --
QM Select the sentence with no spelling errors.
Ans 1. It may not ever be realised for such a complex diseaze.
X 2. It may not ever be realised for such a complax disease.
X 3. It may not ever be relised for such a complex disease.
« 4. It may not ever be realised for such a complex disease.
Question ID : 264330186631
Option 1 ID : 264330730696
Option 2 ID : 264330730697
Option 3 ID : 264330730698
Option 4 ID : 264330730699
Status : Not Answered
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Ans

Sometimes it’s well to break a goal down into subgoals.
X 1. No error
X 2. to break a goal

X 3. down into subgoals.

« 4. Sometimes it’s well

Q.12 Find the part of the given sentence that has an error in it. If there is no error, choose “No error”.

Chosen Option :

Question ID : 264330186171
Option 11D : 264330728947
Option 2 ID : 264330728945
Option 3 ID : 264330728946
Option 4 ID : 264330728944
Status : Not Answered
Chosen Option : --
Q13 Select the most appropriate option for the given blank.
I want you to check if I have an order or not.
Ans 1. placed
X 2. sited
X 3. made
X 4. pushed
Question ID : 264330186254
Option 11D : 264330729260
Option 2 ID : 264330729263
Option 3 ID : 264330729261
Option 4 ID : 264330729262
Status : Not Answered
Chosen Option : --
Q.14 Find the part of the given sentence that has an error in it. If there is no error, choose “No error’.
Their position in the market is more stronger than yours.
Ans 1. market is more stronger
X 2. No error
X 3. than yours
X 4. Their position in the
Question ID : 264330186634
Option 1 1D : 264330730709
Option 2 ID : 264330730711
Option 3 ID : 264330730710
Option 4 ID : 264330730708
Status : Not Answered
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Q15 Select the most appropriate option for the given blank.

Clouds of volcanic ash menacingly overhead.
Ans & 1. loomed
A 2. has been loomed

X 3. looming

X 4. had loom

Question ID : 264330185734
Option 11D : 264330727280
Option 2 ID : 264330727282
Option 3 ID : 264330727283
Option 4 ID : 264330727281
Status : Not Answered

Chosen Option : --

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given. Select
the most appropriate option for each munber.

There (1) never many gitls at all at the football games. Only seniors were allowed to bring (2) with
them. It was a terrible school, no matter how you (3) at it. 1 Like to be somewhere at least where you canses a
few girls around (4) . even if they're only scratching their arms or (5) their noses or even just
giggling or something.

SubQuestion No : 16

Q16 Select the most appropriate option to fill in the blank No. 1.
Ans X 1. are

X 2. was

« 3. were

X 4. where

Question ID : 264330186851
Option 11D : 264330731535
Option 2 ID : 264330731532
Option 3 ID : 264330731534
Option 4 ID : 264330731533
Status : Not Answered

Chosen Option : --
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given. Select
the most appropriate option for each munber.

There (1) pever many gitls at all at the football games. Only seniors were allowed to bring (2) with

them. It was a terrible school, no matter how vou (3) at it. 1 like to be somewhere at least whers yvou can sez a

few girls around (4) . even if they're only scratching their arms or (5)

giggling or something.

SubQuestion No : 17

Q17 Select the most appropriate option to fill in the blank No. 2.

their noses or even just

Chosen Option :

Ans 1. girls
X 2. boys
X 3. parents
X 4. Kids
Question ID : 264330186852
Option 11D : 264330731539
Option 2 ID : 264330731537
Option 3 ID : 264330731538
Option 4 ID : 264330731536
Status : Not Answered
Chosen Option : --
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given. Select
the most appropriate option for each munber.
There (1) pever many gitls at all at the football games. Only seniors were allowed to bring (2) with
them. It was a terrible school, no matter how vou (3) at it. 1 like to be somewhere at least whers you can sez a
few girls around (4) . even if they're only scratching their arms or (5) their noses or even just
giggling or something.
SubQuestion No : 18
Q18 Select the most appropriate option to fill in the blank No. 3.
Ans X 1. glanced
+ 2. looked
X 3. see
X 4. observed
Question ID : 264330186853
Option 1 1D : 264330731541
Option 2 ID : 264330731540
Option 3 ID : 264330731542
Option 4 ID : 264330731543
Status : Not Answered
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Comprehension:

the most appropriate option for each munber.

There (1) pever many gitls at all at the football games. Only seniors were allowed to bring (2)
them. It was a terrible school, no matter how vou (3)
few girls around (4) . even if they're only scratching their arms or (5)
giggling or something.

SubQuestion No : 19

Q19 Select the most appropriate option to fill in the blank No. 4.

In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given. Select

with

at it. 1 like to be somewhere at least whers yvou can sez a
their noses or even just

Chosen Option :

Ans & 1. once in a while
X 2. rarely
X 3. mostly
X 4. all the time
Question ID : 264330186854
Option 1 ID : 264330731545
Option 2 ID : 264330731546
Option 3 ID : 264330731544
Option 4 ID : 264330731547
Status : Not Answered
Chosen Option : --
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given. Select
the most appropriate option for each number.
There (1) pever many gitls at all at the football games. Only seniors were allowed to bring (2) with
them. It was a terrible school, no matter how vou (3) at it. 1 like to be somewhere at least whers yvou can sez a
few girls around (4) . even if they're only scratching their arms or (5) their noses or even just
giggling or something.
SubQuestion No : 20
Q20 Select the most appropriate option to fill in the blank No. 5.
Ans X 1. drying
X 2. banging
X 3. clinching
« 4. blowing
Question ID : 264330186855
Option 1 ID : 264330731549
Option 2 ID : 264330731548
Option 3 ID : 264330731551
Option 4 ID : 264330731550
Status : Not Answered

Section : Part-D-Hindi
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A g g # 3fd yafgard wsg &1 9 B Rad HE B gfd B

(HPHId:) dg ol 3 |
Ans x 1. TFUT
X2 IuH
v 3 TAg
X 4. quaﬂ
Question ID : 264330190078
Option 1 ID : 264330743896
Option 2 ID : 264330743897
Option 3 ID : 264330743894
Option 4 ID : 264330743895
Status : Answered
Chosen Option : 3
Q.2 TR v &, 91 Feest § &, 30 ReeT &7 997 1 57 #rsF § & 710 &g & To87F & &
T e
T W A FeE-ASl B ewet wga & (ff) & e &
Ans 1. FAT
X2 s
X 3 e
o 4 q n)
Question ID : 264330189855
Option 1 ID : 264330743047
Option 2 ID : 264330743048
Option 3 ID : 264330743049
Option 4 ID : 264330743046
Status : Answered
Chosen Option : 4
Q3 Tr=hiEs o= 8, 30 TEmy # sgate S amet § gafte sufEr § ofr e oo a8
ar FE g T ¥ 7 g Hifsm|
Wmﬁmﬁﬁrﬂmﬁsﬁﬁﬁhﬁmﬁﬁﬁﬁgﬁﬂm—@ﬂlm@ﬁ}ﬁ?
TRy ¥ T g
Ans ¢
v S BfeeT TEgl #T g g7 W UHgw |
~< 2. Y
Frg e 72 ¢
Ko TEAEEE R wEeerd ¥ 93 g §
X 4 FESOIAT 3 9N T HFew 0T §
Question ID : 264330189748
Option 1 ID : 264330742639
Option 2 ID : 264330742641
Option 3 ID : 264330742640
Option 4 ID : 264330742638
Status : Answered
Chosen Option : 1
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Ans

X EdHmIT
grz.W
X 3. AP
X 4 GHTIda

Q4 g e qra & Sferd S-SR Wse B 9 i R @ @1 g i
ERSEIE SN

Question ID : 264330190085
Option 11D : 264330743923
Option 2 ID : 264330743925
Option 3 ID : 264330743924
Option 4 ID : 264330743922
Status : Answered
Chosen Option : 2
Q.5 .
FafiRad areg | W@ifed 4R & o0 Us 91 2rsg 91d & ifoig|
I Y wee
Ba- § Wdls o ardl debiadr el
v et
X 2. el
X5 famaR
X4 g
Question ID : 264330189383
Option 1 ID : 264330741248
Option 2 ID : 264330741247
Option 3 ID : 264330741246
Option 4 ID : 264330741249
Status : Answered
Chosen Option : 1
Q.6 fFofiEguy ¥ or e # Y, 39 e & 901 &3 Ol Sigs 7 31 70 Wse & uaiaar] ¥es & 93l ied
i
R T F B Ted T (FE) F5d S B g
Ans x
GRS
X 2. 3G
v faed
X 4. ‘@T['
Question ID : 264330189700
Option 1 ID : 264330742455
Option 2 ID : 264330742454
Option 3 ID : 264330742457
Option 4 ID : 264330742456
Status : Answered
Chosen Option : 3
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Q7 g Y AT T 98 W I B, A B e B

A o e R 2
v 2 3FH TG QI &,
X3 Gl 3D G &I e
X 4 Od goiR § U oidl

e SR H U O] 2 a3 &Il &, Tl 39ab! Hiv &l ST 1 Jurd fazm 2 |

Question ID : 264330189226
Option 1 ID : 264330740653
Option 2 ID : 264330740651
Option 3 ID : 264330740652
Option 4 ID : 264330740650
Status : Answered
Chosen Option : 3
Q.8 fpfafad vy ¥ IR e ¥ ¥, 3T fdded & 909 3% of SIgS 1 3T T8 eg 3 G0 e &1 9 fima € |
Rt off SR T (Fum) et 31 oa1 & w W g gl
Ans x
! TR
X 2. JqHl
3 Ud-
X 4. gqgm
Question ID : 264330189723
Option 1 ID : 264330742542
Option 2 ID : 264330742545
Option 3 ID : 264330742543
Option 4 ID : 264330742544
Status : Answered
Chosen Option : 3
Q9 gy fawed! & @ 0 fase Feged €, wiafer U UEl 31 39 el foed &1 799 3|
Ans . . .
X1 TR 2R IUST IR GeY B
X 2. TRT 2R IUST R Y B
X 3 TRT 3R GBI I TY g
v 4 TR 3R 3P U UaY g |
Question ID : 264330189437
Option 1 ID : 264330741455
Option 2 ID : 264330741457
Option 3 ID : 264330741456
Option 4 ID : 264330741454
Status : Answered
Chosen Option : 4
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RG]
foTs &1 GeRI g

Ans

v Ogl $© T8l gl Uil U+t #eg fire o

X 3. g Hfad BT Haq B! &1d HeHl

X 2 f5dl fHERT & Hag X ST a1d Sl

X 4 fhdl S ISR S1df BT Holld &1

Q10 fmfafEa we o, By 0 OR et # 9, 39 e o1 907 4 of f3U T8 e & onf &1 9898 =9 9 =g

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :

Status

Chosen Option :

264330190061
264330743831
264330743830
264330743833
264330743832
: Answered

1

Tk T S OIS o T3

X 1. U TATF P ST of HTHT|
X 2. gfyadel $r HGTFHAT 7l gl
X3 U AT ST of T3

V4 T HT Teh SATAT of HTHT|

Ans

AN R oo T # WWifea oedt F T W@ weet Ao e # 9a i

Question ID : 264330188269
Option 1 1D : 264330736972
Option 2 ID : 264330736975
Option 3 ID : 264330736973
Option 4 ID : 264330736974
Status : Answered
Chosen Option : 4
Q12 eyfafes = & 3T amn W o S At dette e | sk e g ad g A
w5 Ife 7§ F gEe e |
7Y ARF A I E B eg F @AY o A mad |
Ans x 1 a ﬁﬁ
x 2. I 78
s I 74T &
" "
X 3. ai.,-ga-?«u-lﬁ ofr FEr T |
Vi sgx IR E Hr
Question ID : 264330189684
Option 1 1D : 264330742394
Option 2 ID : 264330742397
Option 3 ID : 264330742396
Option 4 ID : 264330742395
Status : Answered
Chosen Option : 3
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P feuw g & e anle wse gid S
318 U o gal
A X et

V2 VST
X3 g
X 4 3oy
Question ID : 264330189194
Option 1 ID : 264330740528
Option 2 ID : 264330740529
Option 3 ID : 264330740526
Option 4 ID : 264330740527
Status : Answered
Chosen Option : 2
Q.14 fgfofad vy ¥ U Te 9 e 1 ¥, 3% [dwed &1 907 &4 o 37 10 geTr & 3 &1 99y 0 Y =aa
RG]
ot &
Ans .
X GG WREG el
v2 gIEIIH
X o WY el
X 4. Hfﬁlﬂ'l_cﬁ Eﬂ.—ﬂ
Question ID : 264330189262
Option 1 ID : 264330740786
Option 2 ID : 264330740787
Option 3 ID : 264330740788
Option 4 ID : 264330740789
Status : Answered
Chosen Option : 2
Q15 =@ ved &, 91 BFedl & @, 389 BeeT & 990 1 =7 #reF & 87 70 g & f&FeliH g
& T REeT E
FAY W A g A TE () e # e B
Ans X 1. AT
X2 el
2 3. ofreoT
4 FITET
Question D : 264330188385
Option 1 ID : 264330737415
Option 2 ID : 264330737414
Option 3 ID : 264330737412
Option 4 ID : 264330737413
Status : Answered
Chosen Option : 4
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Comprehension:

A e T TIem # T e °fF RU A ¥, 9w wegeie § @RS 9] e R e ) 5w
AT F CWATES ¢ HRY TN et & F wafcam 30w T Reew
mﬁaﬁﬂﬁﬁaﬁﬁﬁm@rﬁ?m#ﬁva@am AT SAET § | AT AT
¥ o RF ¥ e gy @ ¥ 9= AeEe &g § el A ¥ | T & e & R
o 77 R aga o7 @ § | T 9 SR Av F oh 5 fow ¥ o B e §) o s H
HAAR & Yee H T $ 5 T 50 FAG AT F ALHAT, IarAr off | TH AT @7 AT A R
#r g 747 &, @i Z| sTae Rreup 1 UE SEeT 30T Ad o, B Seei MO Fs W S
%sa:r,mﬁt%@aﬁ‘rﬁﬁ?ﬂ#ma@mg‘%sﬁﬁaﬁﬁmﬁﬁaﬁwmrﬁ&m'HTET
& ww & F gl F qraw Y A FroAwr of | s\ ool 7 & v Fr Fof geT F |
Tas a1 & & 5 BE a1 o | OF & Rean AR gits B s ¥, selhw s o
Far ST 3

SubQuestion No : 16

Q16w sl F1 R a=a Fr Rer-dem F 3w & B wgE & s AT S Y|
Ans 1 AA
3
X 2. HAAH
X 3. HIMHA
)
X 4. HTHETA
Question ID : 264330188376
Option 1 ID : 264330737379
Option 2 ID : 264330737378
Option 3 ID : 264330737376
Option 4 ID : 264330737377
Status : Answered
Chosen Option : 1
Comprehension:
A R T TIe@T H F uee o Rw v ¥ 9w aeete & AWE 9] Rwew Rw e §1 5w
TSI F CAAEF Te¢ HY AR Pt F ¥ Fcan seat T e 4
aﬁaﬁaﬁrm%ﬂaﬁﬁﬁﬁaﬂ-&rﬁ?m#ﬁﬂa@aé’rm FAAT SAaT & | AT SAew
Y oow RE ¥ e 9y @9 ¥ T= Aeae e ¥ el 2 ¥ | F=at & s F BT
afrugﬁ:ragqa_jmaﬁmh@Wrﬁ?mﬁ#gﬁﬁ?ﬁgﬁﬁﬁmﬁmm?
HIAR F§ iee $ TT1 $T T8 99 50 FAT AE0T F AT, IEEr off | TH T @1 A7 A TR
#r g 747 &, wair Z| sTrae Rreup 1 9E SEeT HeOT Ad o, B Seeie MU s W S
%@_a?r,mm#%@ﬁﬁﬁa#mamm?,sﬁmaﬁﬁMﬁaﬁwmr@rimmzr
& wH 3 F gl F qEaw AR A FroAer of | 5w ool 7 & s Fr amolr gere Fr |
oras a1 @ & 378 B a1 o | OF o Rean #R gftg Fr e €, sulow s ot
FET AT 3
SubQuestion No : 17
QA7 ey Frar ¥ B = i ¥ e uwsT B ¥ s=v AT g & 3 g e
Ans X 1. ST
X 2. g &fror
v e gfeg dF
K 4 AT
Question ID : 264330188377
Option 1 ID : 264330737382
Option 2 ID : 264330737380
Option 3 ID : 264330737381
Option 4 ID : 264330737383
Status : Answered
Chosen Option : 3
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Comprehension:

A e T TIem # T e °fF RU A ¥, 9w wegeie § @RS 9] e R e ) 5w
AT F CWATES ¢ HRY TN et & F wafcam 30w T Reew
mﬁaﬁﬂﬁﬁaﬁﬁﬁm@rﬁ?m#ﬁva@am AT SAET § | AT AT
T oow R ¥ ey @9 ¥ = Aea g ¥ el A ¥ | Tt F s ¥ R
o 77 R aga o7 @ § | T 9 SR Av F oh 5 fow ¥ o B e §) o s H
HAAR & Yee H T $ 5 T 50 FAG AT F ALHAT, IarAr off | TH AT @7 AT A R
#r amofr 74T &, T g srTae Rreup 1 9g dmeT HTOT Ad o, B Segie MO FHs W S
%sa:r,mﬁt%@aﬁ‘rﬁﬁ?ﬂ#ma@mg‘%sﬁﬁaﬁﬁmﬁﬁaﬁwmrﬁ&m'HTET
& ww & F gl F qraw Y A FroAwr of | s\ ool 7 & v Fr Fof geT F |
Tas a1 & & 5 BE a1 o | OF & Rean AR gits B s ¥, selhw s o
T S 3

SubQuestion No : 18

Q18 xar =T T oT A R Fr avoft 76§ @sh ¥
Ans o 4. 3R

(2%

o 2. Heh

xs.agr-ra’l?»!?r
X 4 gEarer

Question ID : 264330188378
Option 11D : 264330737385
Option 2 ID : 264330737386
Option 3 ID : 264330737384
Option 4 ID : 264330737387
Status : Answered
Chosen Option : 1

Comprehension:

A R T TIe@eT # F e o R v ¥ 9w aeete & @A 9] Rwew fw e §) 5w
T F CAATEF T AHR TR et § F vl e A fwew T
mﬁaﬁﬂﬁﬁaﬁﬁﬁm@rﬁ?m#ﬁva@am AT SET | AT ST
Y oow RE ¥ e 9y @9 ¥ T= Aeae ey ¥ el 2 ¥ | F=at F e F BT
afrugﬁ:ragqa_jmgﬁmhaﬁqﬂ&fﬁ?mmﬁgﬁrﬁ?ﬁs_ﬁﬁ:ﬁmﬁmmﬁ
FIAR & G H A H TS T 3H TAG AGE0T H AEar, serdr off | ¥ w@e @ oo Amr R
#r g 747 &, @i 2| sTTae Rreup 1 9E dEeT 30T Ad o, B Seei MO s W S
%@_a?r,mm#%@ﬁﬁﬁa#mamm?,sﬁmaﬁﬁMﬁaﬁwmr@rimmzr
& ww & F gl # qeaw AR AR Fr oAwn of | 5w ool 7 & v i o gaT # |
Tas a1 & & 5 BE a1 o | 9§ & Rean AR gitg B wferer ¥, selw s o
e S B

SubQuestion No : 19

P gw A & A T FUT FETT |
Ans ﬁ?1-mﬁ'ﬂﬁ'

X 2. gepfer

X 3 ST

x 4. agﬂ-

Question ID : 264330188379
Option 11D : 264330737389
Option 2 ID : 264330737391
Option 3 ID : 264330737390
Option 4 ID : 264330737388
Status : Answered

Chosen Option : 1
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Comprehension:

A e T TIem # T e °fF RU A ¥, 9w wegeie § @RS 9] e R e ) 5w
AT F CWATES ¢ HRY TN et & F wafcam 30w T Reew
mﬁaﬁﬂﬁﬁaﬁﬁﬁm@rﬁ?m#ﬁva@am AT SAET § | AT AT
¥ oow R @ e TR @ ¥ o= T e ¥ o A} | T=at & s B
o 77 R aga o7 @ § | T 9 SR Av F oh 5 fow ¥ o B e §) o s H
HAAR & Yee H T $ 5 T 50 FAG AT F ALHAT, IarAr off | TH AT @7 AT A R
@r amofr 74 &, | g s Taup @t 7 dwe amoT AE o, BN Sl I wAse ¥ S
%sa:r,mﬁt%@aﬁ‘rﬁﬁ?ﬂ#ma@mg‘%sﬁﬁaﬁﬁmﬁﬁaﬁwmrﬁ&m'HTET
& ww & F gl F qraw Y A FroAwr of | s\ ool 7 & v Fr Fof geT F |
Tas a1 & & 5 BE a1 o | OF & Rean AR gits B s ¥, selhw s o
T S 3

SubQuestion No : 20

Q20 oz & feam sk gfes & wfrerd ¥, wwfe = ofr T e g
Ans v Taeamerfae
X2 oA
X 3. HTar
X 4. a—cﬂ-
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status
Chosen Option :

264330188380
264330737392
264330737394
264330737395
264330737393

: Answered
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